

:	4
الشعبة : .	3 :

:(06)

- (0.5)..... $. 1 = 0$ (1)
- (1.5)..... $. 0 = [3 - 1 - (3 + 2 -) + ^2] (1 -)$ (2)
- (0.5)..... $. 1 - = \Delta$
- (1.5)..... $. 2 - 1 = 2$ $. -1 = 1$
- (1)..... $. (1 - 0) \omega :$ (3)
- (1)..... $. \frac{\pi}{2} :$

:(14)

- (0.5)..... $. 0 \leq \quad \quad \quad + 1 + = ()$ } (1)
- (1)..... $. 0 > \quad \quad \quad + 1 + = ()$ }
- (0.5)..... $. 0$
- (0.5)..... $] \infty + , \infty - [= ف :$ (2)
- (0.5) + (0.5)..... $\infty + = (س) \text{ نهيا}$ $\infty - = (س) \text{ نهيا}$:
س ← ∞ س ← ∞
- (0.5)..... $. 0 < \quad \quad \quad 2 - 1 = ()'$ } :
- (0.5)..... $. 0 > \quad \quad \quad 2 + 1 = ()'$ }
- (0.5)..... $()'$
- (0.5)..... :

$\infty +$	$2 \frac{1}{2}$	0	$\infty -$	
+	0	-		+
				$()$

$. 0 = [(1+) - ()] \text{ نهيا}$ $. 0 = [(1+) - ()] \text{ نهيا}$
س ← ∞ س ← ∞

- (1)..... $. 1 + = :(\Delta)$

:	4
الشعبة :	3 :

$$. 0.13 \approx (1 -) . 0.17 - \approx (\frac{5}{4} -) [1 - \frac{5}{4} -]$$

$$(1) \dots \dots \dots . 1 - >_0 > \frac{5}{4} - : 0 \quad 0 = ()$$

$$. | | 2 - 4 = () "$$

$$(0.5) \dots \dots \dots . ()$$

$$. 0 < () " : \exists \forall$$

$$(1) \dots \dots \dots . 2 = . \frac{1}{2} - = 2 \quad 2 \quad \frac{1}{2} = 2 - 2 \Leftrightarrow \frac{1}{2} = () ' (4$$

$$(1) \dots \dots \dots . 2 \quad \frac{1}{2} + \frac{5}{4} + \frac{1}{2} = :$$

$$(1.5) + (0.5) \dots \dots \dots . ()$$

$$(0.5) \dots \dots \dots . 1 -$$

$$[0 \infty - [(5$$

$$(0.5) \dots \dots \dots . 1 -$$

2	$\infty -$	
0	$\infty -$	$() 1 -$

$$(0.5) \dots \dots \dots . 1 -$$

$$(1) \dots \dots \dots .$$

$$\frac{1}{2} + \lambda 2 - \frac{1}{2} = 2 - \int_0^\lambda = (\lambda) (6$$

$$(0.5) \dots \dots \dots .$$

$$\frac{1}{2} = (\lambda) م نها \infty \leftarrow \lambda$$

:	4
الشعبة :	3 :

